IERACS LNER

» , . |
%4 10 sy, MIa9dterazvsaunday.  samludsz L Lo lafueyganean

E.T.S. WHIGUT§RLUTIN. WISURTY dEUANT, 2514,

L??@ ﬂﬂfﬂegr u bqﬁﬂﬁ, Wazfiaa aﬂrﬁaqr ¥ pYIuNe. Comprehension

Practice. WTZURTS anhuwiymﬁu. 2515 .

| 74 -
B4 uW3QQQ. LMﬁUﬂﬂWT?ﬂU@. WTZUnTe uﬁqquaau@nﬁrt?rmmﬂu, 2507.

1

A ’ 9 = Xy N -
Ureany nrTagn. ﬁamﬂﬁamrﬂr:qnmaﬁmrnﬂ;. WUWRTIN 2. WITUATS Lvwaeun

Wﬂuﬁ, 2513,

s q -\
ire aqn qraMﬁ. "oAT ﬂﬁﬁlﬂ?ﬂﬂlﬂﬂﬂu@ﬂuﬂmﬁ unwitruugﬂﬁuﬁQﬁnLﬂiiawao

UHLTUu?ﬂﬂﬁﬂiﬂﬂUMUQﬂaUMl?ﬂﬂﬂﬂﬁﬂﬂﬂﬂqkmuuﬂﬁﬁﬂﬂﬁi DMLTHUﬂﬁLﬁ

- - o “ ¢ - J &
aenqﬂwuwaanﬁrﬂrznanmﬁunﬂwnﬁiﬁu uaznmtrﬂuanﬂaaanwgntua-
4 < ‘ = a ¢ - a A - A
LTR It YURITGU ﬂrmmquwuﬂnqsﬁnnﬁuuﬂumMm AMEIAUITINITANEA
T =dquNnT, 25154
, Jv, ' v‘]v Qé [ d
ﬁ:ﬂﬂ qurmu. NAYNENHUSTS SN IAIINL TN LATUTT TUTRITUTIAVPANIETIN QY
1 4
ua~ﬁnQMﬁudlunﬁraﬂunﬁHﬁaanL." QMUﬂuwuﬁﬂ?ﬁqawrnuﬂum%m weun

Q%ﬁNﬁﬂﬂaﬂﬁﬂ UmMﬂQMﬂﬁ@U 2Wﬂﬂﬂﬂ?ﬂu“ﬁ?%ﬁﬂﬂﬂ, 2515

$ v s v ]

Q;/, 4 vv' . &

Wray 1navav. "ﬁaﬁuamwuﬁszuqﬁQﬁﬁﬂntﬂﬁ1vﬂﬁﬂwmua~ﬂ1ﬂMLﬁﬁiéiunﬂiaqu
ﬂﬂBﬁﬂQﬂQBﬁﬂQuﬂLTﬂuﬁuﬂ?wﬂuﬂm 5 Tsal:uuaﬂﬁﬂaﬁﬁadﬂrmuuﬁﬁmuﬂau."
QMUﬁuwuﬁﬂTﬂﬁﬁﬂTuﬂﬂnm%ﬂ uuun1ﬁ1uﬁuuﬁnmﬁ um%ﬂqmuﬂaﬂ qWﬁﬂqn?m_

uuﬁ?ﬂﬂﬂaﬂ, 2514,



97

. . A = « ' o v acd - Aad o ¢
1 mMatTade  "MITLUTEY (MBUNATdauRIuRINEALI TUl ARL 1 Tda U WL AL
[ 2N 1 t 4 :
) - S

TATa8T19NBUMTENL " IVEAUMTRLANEAT AU UEUNITITILANL
~ a a - o -
JofinIuundy 9MaInTIsmn M, 2515,

form FNEAMe  MRINALNUTTEIANAUL TA LI L AT 9519 (Structure) WATANY

¢ [l
WINUTaIRWN (Vocabulary) MHAA INHEALAIMNEINATD L UNITEL LY
AU (Reading Comprehension) ﬂa@uﬂLsuuﬁuﬂ::nqﬁugnmsaﬁqnﬁr
Q v é . a -~ 5 - Y ¢
Anpraullv 2 se93MiIGuRgIs SURTRTARTIA. " IRyt AnEm-
v a a - a a
YU AT R aEY s dauiing, 2515,
Q e V r "“
AUNA DITUUNe "ﬁ?ﬁuﬁﬂuﬁr61uﬂ1?ﬂ1un13ﬁ1mﬂ (Reading Comprehension)
L N |

ﬂaqunLrﬂuanuﬁﬂ;ﬂr~nﬂﬂuﬂnmrqmﬁnﬂrﬁnnqﬁmﬁaqwaaqmuqauﬂ;uqunq
TuuﬂruaqonteLMWﬁuqi." ﬂrquuwuﬁnﬂrﬁnnﬂuuﬁnm%w WAL ITINAT

Anpa Ursdquling, 2574,

Ahlvers, Elizabeth Rose, "A Study of the Effect of Teaching Into-

'nation Skills on Reading Comprehension in Grade One,"

Dissertation Abstracts International, 32(July, 1971),

29?A$

Alexander, L.G. A First Book'in Comprehension, Précis and Compo-

sition. .. London: Longmans, 1965,

Bentley, J.D., Spoken English for Overseas Students. London:

Hulton Educational, 1965,

Best, Jobn W, Research in Education. Prentice~Hall of India, 1965.



98

Bloom, Benjamin S., and others (comp.). Taxonomy of Educational

Objectivés. New York: David McKay Company, Inc., 1956,

Boone, Stanley Malcolm, "An Investigation of the Effect of Higher

Level Questions on Reading Comprehension," Dissertation

Abstracts International, 32(Eebruary, 1972), 44804,

Bright, JeA. Junior English Composition and Grammar. London:

Loﬁgmans, 195k,

Brooks, Nelson., Language and Lanpguage Learning. New York: Harcourt,

Brace, and Worid, 1960,

Brooks, Ruth Ann. "An'Inyestigation of the Relationship between

Reading Interest and Compreheasion,' Dissertation Abstracts

International; 32 (June, 1972), 6674A,.

- Chadwick, Sandy Cafroll. "The Effect of Written Préquestioning on

Reading Comprehension of Fifth Grade Students,'" Disserta-

_ tion Abstracts International, 33 (September, 1972), 1073 A,.

Cobb, David. Constructive Comprehension. | Harlow:( Longmans, 1969,

Cucinotta, David Mears. " !"Two Methods of Improving|Certain Reading

Comprehension Skills of Able Grade Eleven Learners,"

Dissertation Abstracts Intefnational, 32 (October, 1971),

1974 4-1975A.

Davise "The Apprehension and Interpretation of Meaning,' Encyclo-
pedia of Educational Research. New York: The Macmillan

Company, 1960, 1110,



99

Elliot, A.V.P. "The Reading Lesson," Teaching English as a Second

Languages New York: MeGraw=-Hill Book Company, 1972, 284,

Finocehiaro, Mary, English as a Second Language from Theory to

Practice. New York: Simon and Schuster, 196k&.

. English Lanpguage Skille, /Néw York: Harper & Brothers,

1958, .

. Teaching English as & Second Language. New York: Harper

& Row, Publisheps, 1958,

Glenn, Hugh Wallace. MThe Effect of Silent and Oral Reading on
Literal Comprehension and Oral Reading Performance,"

Dissertation Abstracts Intermational, 32 (December, 1971),

31524,

Gr#y. "Relation between Speed and Comprehension,' Encyélopedig of

Educational Résearch, New York: The Macmillan Company,
1952, 980-981."

Guilford, J.P, Fundasmental Statistiecs in Psxchoiogy and Education.

New York: McGraw-Hill, 1965,

Haldon, G,R. Comprehension, Interpretation and Criticism, Londons

Longmans, 1965,

Harris, David P, Testing English as a Second Language. New York:
MoGraw=Hill Book Company, 1969.



100

Harris, Edward Anthony, "Psycholinguistic Aspects'of Comprehension:

Information Processing as a Function of Discourse Structure,"

Dissertation Abstracts International, 33 (October, 1972),

1706 A,

Hesse, Karl David, "The Effect of Content and Process Questions
Written at Memory and Evaluation’Levels on Minth Grade
Students' Comprehension of a Passage TJhen the Questions

Have Been Inserted Either before or after Segments of the

Passage," Dissertation Apstracts International, 33 (February,

1973), LO60A,

Hill, L.A. Drills and Tests in English Sounds. London: Longmans,

1961,

Horrocks, Edna M, and L. Sackett, Grace. '"Developing Basic Skills

in Reading," Teacher‘s Encyclopedia, Englewood Cliffs: N.J:

Prentice-Hall, Inc., 1966, 502.

"How to Develop Comprehension Skills," Teacher's Encyclo-

edia, Englelwood Cliffss N.J: Prentice-Hall; Ine., 1966, 512,

Lado, Robert, ., language, Testing: The Construction and Use of Foreién

language Tests. London: Longmans, Green‘and’ Co, Ltd., 1961.

Macmillan, M, "Comprehension Testing in Quicker Reading Courses,"

English Language Teaching, 3 (April, 1964), 111-112.

Manning, John., "Reading for Specific Purposs," General Outline

of a Study Guide, University of Minesota, 1972, 2-5.



101

Norris, William E, "Contexts Clues to Vocabulary Meaning," English

Teaching Forum, 5 {September-=October, 1971), 12.

-Parsley, Kenneth M, "Are there Really Sex Differences in Achievement?®

Journal of Educational Research, 57.(December, 1963), 210-212,

Piekaz, "The ApprehensiOn and Interpretation of Meaning," Encyclo-

pedia of Educational Researchy New.York:iThe Macmillan

Company, 1960, 1110.

Plaister, Ted., "Reading Compréhension for College}Levei Foreign

Students," TESOL Quarterly, 3 (September, 1968), 4O,

Purcell, Elizabeth Wells, M"The Relationship of Personalify,to

Achievement in Reading Comprehension,'" Dissertation Abstracts

International, 33 (September, 1972), 906A,

lRivers, Wilga M, Teaching‘Fareign—Language Skills, Chicago: The

University of Chicago Press, 1968,

Smith, Arthur Edward, '"Theé:Effectivenéss of Training Students to

Generate Their Own Questions Prior to.Reading,'" Dissertation

Abstracts International, 33 (April, 1973), 562044

\

Stafford, Gerald Edward. '"An Examination of the Effects of Three
Teaching Techniques on Word Accuracy, Compreheﬁsion, Rate,

and Percentages of Semantic Substitutions in Oral Reading,"

Dissertation Abstracts International, 33 (Aﬁril, 1973), 55654,



102

Stoodt, Babara Leé Dern, "“The Relationship between Understanding

Grammatical Conjunction and Reading Comprehension," Dissert-

ation Abstracts International, 31 (March, 1971), 4635A,

Swalm, James F., "Comparison of Oral Reading, Silent Reading, and

Listening Comprehension Assessed by Cloze," Dissertation

Abstracts Internatiomnal, 32 (Janvaey, 1972), 3578A.

Tinker, Miles A, Teaching Eiementary Reading. New York: Appleton-

Century~Crofts, 1952.



AULINENINYINS
AMIAINTAUNNIINGIAY



104

AULINENTNEINS
ARIAN TN TN



105

d 4 4
dul s~am§mm mama"l AUBILULLY ﬂaanmutm Lmqmmmnqmmu wdandu

(Paraphras:.ng) '

2
n6/ - My (n"_Mt)

s “

ﬂ'lJEJ’J‘VIEWl‘iWEJ’lﬂi
Q‘imENﬂ‘iﬂJ UA1AINYAY



106

& 4 4 vl" o -~
il re I ANANLTOMOLA T2 IUUIMAEDLEIULAT L TRIMEIBINGHILL.

o
AR (Interpretation)

tt

.;qégl

AUEINENTNYINS
RINNIUUNIININY



107

-~ £ P v ! | -
Snlrsaninaan 1 5e00 ] Are Y WUVAGELAT LB L TEIAIEAD INTEULL TUNY

a1 (Extrapolation)

tt.

00.(20 =~ 12+7100)

= 4678

ﬂ’lJEJ’J‘l’IEWl‘iWEJ’]ﬂ'ﬁ
Q‘imﬂﬁﬂ‘iﬂd UA1AINYAY



108

[ ‘ i v ! ' 4' ‘ - [ 4
Fnlreindrauisenel nresiwimadana uLan L TRUMIEIEINOE TIUN ALY

2
n6; - M, (o~ M_’c)
i (n - DGE,2

3% (60 = 37.7133)
e 0

1t

-

U

AU INENTNEINS
RINNIUUNIININY



& 4
AT 12 MINTEIANTSINIRIAT uuummmnvmmnmum*nmmﬂmmnqmmnuﬂamw ALAZHUY

4
NN ﬂ’éi’t’)ll’ﬂ'lu a1t mammaanqmmnﬂmu ‘lun Qlluﬂ t mmﬂﬂ

[ 4 ° vA [
.5890 WibaWMIEM .01

- . —
e o | 4=6 | 7-9 | 10-12 [“13=15 | 1648 [9=21| £(1) | T | vA(D) | YPe(D)| X £ex, 1)
1921 LD 5 | 5 0 0 0
16-18 L e 13 | 2| 26| 52 b
13-15 11 5 T L 3 48 1 L8 48 61
1012 6| 13 | L2l 1w | o 0 0 0

7-9 bl 1o| 11| A1 36 |1 | 36 | 36 7
b6 3 2 1 é -2 | «12 24 4
13 0 | -3 o| o 0
I - : e e e e |
£(X) o| & l20] 31| 62 | 29 b |50 26 | 160 | 116
x =3 =2 | -1 0 9 > 3
CXP(X) 0| -8 l-20'] Mol de2 || 58 12 | 104
e 1e9) ol 16 20l 0.l 62.1%116.1 36" 250
| X3 8(X,1) 0

601



) 4 . as 4: s d o )
MIIIN 13 MITNTSIANT SINULDIRCUUUTINULLNAABLBIUL DY LT DINBIDINQBULUARIUNUASLUUIIN

Txy

bﬂu u4 [V v
= 5125 uuudaywrzaL . o1

uUHMﬁaﬂuéﬁuiﬂwt?aenqﬁﬂﬁqnnﬁuuumﬂqﬂﬁawnqunéuﬁnL?uuﬁqﬁ
gﬂq;;\QHZEij:i‘ 1-3 | 46| 7-9 | 10-12 | 13295 14618 |[19=21 £(¥)| ¥ |vE(v) |¥22(V) |x v £(x,¥)
19-21 » 1 2 g TG s | a2 | 36 12
16-18 2 418 9 29 58 116 72
13-15 11 2 |25 23 12 63 | 1 63 63 43
10-12 9 | 12 5 4 30 | 0 0 0 0
7-9 1 8 9 3 21 1 -1 =21 21 ?
4-6 1 2 'z |2 | -6 12 2
| 1-3 g1 -3 0'49 0 0
£(X) 0 12 120 | 51 51 26 0 150 106 248 136
X -3 1-=2 |-1 |0 1 2 3
X£(x) o |-k |20 0 51 52 0 79
e (x) ‘ o | 8 Lao 0 I 0. 0§83
x’&’f(x!Y) 0 0o | 8 0 62 66 0 136

oLL



4 - 4 e
TN 14 MMTNTSINNTSIIUIBIATUUUINULINAGAUD UL AL TDINEI BN BULD U A AU

]
~ s L e
ﬂﬁﬂ:uuu?ﬁﬂunumﬂﬁﬂuﬂﬂulﬂﬁL?ﬂﬂﬂﬁﬂﬁﬂQﬂQHuUDﬂﬂﬂﬂﬁﬁ1M1uﬂquunliﬂuﬁﬁﬂ‘

Tyy

. 4868

dv,vA o
uunaRYnIzay .01

P

\? UL AN ' : /] I i
1 =314 -6 |7 -9 |10-12.13-15 (1610 {(19=-21 |f(¥Y) | ¥ |y£(y) [y°£(¥) |XY(£X,Y)
vangnu \ "
£(X,7)
19 =21 e o 0 | 3 0 0 0
16 = 18 ] 9 4 13 | 2| 26 52 34
15 =15 1 3 9 22 13 bg | 1| 48 | 48 b3
1) - 12 8 | 18 14 7 47 | 0 0 0. 0
7 -9 1 7 20 4 |, 6 5 35 | =1 | =35 35 1
L - 6 4 3 2 7 =2 | -4 28 8
1 - 3 ’ 0 |=3 0 0 0
£(X) 0 2 22 50 51 25 0 150 25 163 86
x/ -3 -2 -1 0 1 2 3

X2 (X) o | 4 |-22 05 | .51 50,1 0 | 25

X2£(X) 0 8 22 0 51 | |00 o |81

XY£(X,¥) 12 0 34 4o 0 86

LLL



4
AITWN 15 AIINTS ?ﬂﬂi YIUUBINS uuu?ﬁﬂuﬁumﬂﬁﬂuﬂﬁulﬂﬁlTﬂQﬂﬁHﬂﬂﬂﬂqﬁuﬂnuﬂaﬂﬁﬁwﬂﬂﬂ HUUIN
' ]

uﬂuﬂﬁﬁﬂnﬂﬁukﬂﬂliﬂﬁﬂﬁﬁﬂﬂdﬂﬂHHUUﬂﬂQﬁNﬂUﬂ@MNﬂLTUHWMQ

.
A 13 | 4e6| 729 | 1012 | 13295 116-18 [10e2rl s(1)| Y | vé(n) | 2e(v) | XY 2(x,1)
VGTE R o |
19-21 R YR 0 0
16-18 1 F Ly 2 21 2 b2 8k 74
13-15 S 7. 13 17 3 40 1 Lo 40 56
10-12 6 | 16 16 12 1 s1 | o 0 0 0
7-9 2 1 6 13 ¢ [ 34 | -1 -3 | 3k -6
bt 3 1 | B -8 | 16 4
1-3 ) d.)| -3 ol o 0
+ e =g ‘ 1=T===========4
£(X) 0 2 | 15 37 L5 Ls 6 150 Lo 174 | 128
X IR 0 4 2 3
XE(X) 0 |-t [-15 0 L5 90 18 [ 134
X2 1(x) o | 8115 0 4s 1180 She 302
LX) | o | b 1]l 11¢ ble8o 21 ¢ 128 |
ro. = 5343 ﬁﬁhﬁhﬁ@%ssﬁh .01

XY

44"



4 ” o
ANTIN 16 NATNTINNTSINYVDIAZUUUIINULLNAGDY

! tg [ ! s i
uUUMﬂﬂﬂDﬂﬁULﬂﬁt?ﬂ@ﬂﬁﬁﬁﬂﬁﬂﬂﬁunuﬂﬂﬁﬂﬂﬁﬁuﬂuﬂquuﬂLiﬁuﬂ@ﬂ

A o < [ ’
ﬂﬁuL31liﬂﬂﬂﬁﬁﬂﬂﬁﬂﬂﬁuﬂﬂﬂﬁﬁﬂuﬂﬂﬂzuuuﬁﬁﬂ

XY

o VA o
L4687 'ﬁuaﬁhﬂQWizﬂn .01

AR | | , | 0 ,
A 1-3 4-6 7-9 110-12 [43=15{ 16-48 | 49=24£(¥)| ¥ 1 ¥v£(¥) [T £(Y) | X ¥ £(X,Y)
19-21 X 3 2 IO gl 3| 48 | sk 21
16-18 5 HLrF L ks 2 90 180 106
13-15 5 16 19 6 L6 1 k6 L6 | 26
10-12 1 3 12 16 i 36 0 0 0 0
7-9 1l 7| 2 5 151 -1 | =15 15 4
4-6 2 2| -2 b 8 b
1-3 | o -3 0 0 0
=———"———=#=
£(X) o | 2 |17 | 36 70 25 o {150 135 | 303 161
¥ =3 -2 | - 0 1 2 3
XE(X) 0 | =4 [-17 0 70 50 | |€ o 99
Ke(x) o | 8 Lzl o .70 400 | _o=495
Xv'ex,v)| o | 2|.6 0 77 76 o “lI"164
— I R

gLt



‘J o l 4 o e
ANTWNN 17 ﬂ']?ﬂ?z’VﬂﬂT5"?"“.!@@\1?13“1“3“7']ﬂlkﬂﬂmﬂﬂﬂnﬂquLﬂqLTﬂ\]ﬂ'ﬂ:ﬁﬂﬂﬂqgllﬂﬂllﬂﬁﬁquﬂﬂﬂ$Lluu7‘31ﬂ

A ar ! o a
UULMABUEAL 12 L TN MBI nBULNTEEAY T UGN LT Hund

AUAEAIW | _ ; 1, i - .,
udapn 1-3 | 4=6 | 7=9 [ 10-12 | 13=45146-18 | 19=24f£(¥) | ¥* | YE(Y) | YO£(Y) 1X ¥ £(X,Y)
19-21 T e | 3 0 0 0
16-18 1 143 7 240 |2 | w2 | 8y 54
13-15__ 1 8 22 9 4o 1 Lo Lo . 39
10-12 1 15 | 13 | 26 5 50 | o ol o 0
7=9 1 8 12 10 S 34 |- | =34 3l £
46 3 2 5 -2 | -10 20 6
1-3 o7 Y-3 0 0 0
£(X) 0 2 117 36 171 2L 0 150 38 175* 93
X =3 1=2 | =1 0 1 2 3
X£(X) 0 |-t |-17 0 71 48 o | 98
X2 (X) o | 8 1171 o | 7 96 0 4192
XYsx, ) o |2 137 Do 38 ¢ Do 0 93

]

dv,vA or |
XY 6Ll uundrAgRTIAL .01

HLL



fANTIIN 18 ﬂ15ﬂ5Z?ﬂﬂ?:?qﬂﬂﬂﬂﬂZHUUWﬂﬂuUUWﬂﬁﬂﬂﬂﬁulﬂ1L5@Qﬂ73ﬁﬂ0ﬂQHuUUMﬂﬁﬁﬁﬁNﬂUﬂSuuu?ﬁﬂ

L]
o J

4 . “ v o . 4 5 PV
uUUWﬂﬁﬂUﬂquLﬂ1lTﬂ@nqgﬁﬂqnﬂﬂuﬂﬂﬂﬁﬁ1NﬂﬂquﬂL?UumﬂﬁuﬂluﬂQHﬂﬁﬂﬂqq

dv,vé ar
ryy = 25226 JuudEIPQNTIAY W01

9 :
uﬁaﬂii?qu 1-3 456 7-9 |10-12 13-1; 16-187| 19-2111 (¥} Y Yf(y) .Yef(Y) X1/ 2(x,Y)
19-21 Pkt e 3 0 0 0
16-18 1 of A 22 2 sk 2 68 | 136 50
13-15 112|580 | 3 6 | 88| 1| 88 | 88 29
10-12 12 29 37 183 2 98 0 0 0 0
7-9 61 16 | ou 21 3 720 | =1 | =70 70 21
4-6 6 2 2 10 | -2 | =20 40 28
L LS 0 9 S
£(X)_ 0| 6] 35 | 68 1107 74 1710 | 300 66 | 334 178
x b | 23| a2 |1 0 1 2 |
X£00) 0 |=18 |-70 =68 "I|l-0 74 20 =62
Ke(x) o st |0 .l 68 o | o4 | o I396
Xy, )| ol 18| sk | 1k 0 72 20 ' 17178

GLL



' A [ : 4 or. 4 ar
AT 19 NITNTSINNTS I ABIASUUUIINULUNAERURIU LRI L TONNIHIBINRULUARIMUNUA S UUUIIN

‘e 4936

o vt:i o
WUHANPYNT AU .01

unuwﬂaﬂuﬂquLﬂwL?ﬂQﬂquéhnquunnﬂﬂﬁﬁﬂawuﬂﬂqﬁhL?ﬂuﬁEMMﬂiunénﬁbﬂﬂﬁa
\\\\ggjuﬁaqu : _ L1, , |
ﬁﬁqqﬁ\\\\\\\ 1=3 A-G 7=9 | 10=-12 13-15 16-18 | 19=21 f(Y? Y o YE(Y) | YO£(Y) (X Y £(X,Y)
_19-21 2 5 3 £, 1o<r‘ 2 20 ko 2
16-18 7 45 22 2h | 1 74 74 15
13-15 0 2 L hog | 18 109 | 0O 0 0 0
10-12 11 12 24 21 3 66 | -1 -66 66 L3
7-9 21 15 11 8 36 | =2 -72 b 94
L6 3 2 5 V=31 =15 ks 24
1-3 o 0 0 0
£(X) 0 L | 37 . 87 121 51 0 3ob -59 369 178
x b | -3 -2 | -1 0 1 2
X£(X) 0 =12 | =74 |87 0 51 0" =122
¥or (1) 0 | 36 [148 ndv .87 0.~ 51 0~ J322
x Y8, 1) | 0 | 15 [108 | 41 o 172077 o | 178

gLL



A [ %4 ' or . [
AN TINN 20 ﬂﬂ?ﬂi:?ﬁﬂisﬁﬂﬂ%ﬂdﬂ:uuuﬁﬁﬂuUﬂMﬂﬁﬂUﬂﬁulﬂﬁLTﬂﬁﬂﬁﬂﬁﬂdﬂﬂﬁuuuuﬂﬁﬁﬁﬁMﬂUﬁzHHU?ﬁﬂ
] ’ 1

A o o .4 ! ar
uUUWﬂﬁﬂUﬂﬂulﬂql?ﬂﬁﬂWEﬂﬂQﬂﬂBuUUﬂﬂqﬂﬁqqumﬂquﬂlTUUWQWNﬂ1UﬂQNﬂ7ﬂﬂﬁq

R CLERH | : A o L,
™~ 1-3| b=b6| 7-9 ] 10-12 | 13-15416=-18 {19=24 | £(Y)| Y | ¥Y£(¥) | Y £(¥Y) | X ¥ £(X,Y)
uﬂaﬂqﬁﬁ\\\\\ : ) 4
19.21 S N 0 0 0
16-18 1 22 14 2L 2 68 136 20
13-15 - | L ol ow | ap |l | 2o 88| 1] 88 | 88 -6
10=12 1 113 | 31 40 12 9| o 0 o | 0
7-9 2 |15 | 32 | 16 | & 69| 1| -69 | 69 64
L-6 7 5 12 | -2 | -2l 48 38
1-3 ' ol -3 0 0 0
_— 4 :
£(X) O | 4 |39 | 8 [122 49 0 | 3004 63 | 341 116
x’ bl a3l -2 | g g 1 2
X£(X) 0 |-12 |-78 |-86 0 v - | Yo Yl=127
X2 £(X) o | 36 1156 ndv 86 0 L9 o~ 1327
xv'ex,v)| o | 3 |s0 | 23 0. | Lo o | 116

. vov‘é L
ryy = L4767 Tiudnegireit o1

LiL



v
Qe o

4 o . (v ) v‘
ANTIIN 21 min3:ﬁmni:mmmqﬂ:uuumnunum%au&nmtpwmmzuuuumﬁmmmmnammunt?uu

«$ = )
119t TuumI AR L0

T hzuuy | , ,
AUUY 10-11|12-13 }14=15 |16=17| 18=19120~-21 ; £(¥) Y |YE(Y) Y2£(Y) X/y/f(X,Y)
BONGRRT
. FOHY )
47-49 : - £ 1 (O 6 36 2k
i) 1 | 5 5 25 _20
41-43 1 10 b b 16 12
38-40 1 1 2 3 6 18 | 3
35=37 1 ‘ 1 2 2 0
3234 1 1 1 3 1 3 0
29-31 1 3 b 0 0 0
26-28 1 1 2 | =1 <2 2 1
23-25 3 3| =2 -6 12 0
20-22 1 1 2 L 3| -6 18 0
f(g) 5 6 5 1 1 2 20 12 134 60
X -1 0 1 2 3 b
XF () -5 0 5 2 3 8 13
xef(x) 5 0 5 b 9 32 55
X1 £(x,Y) 0 ool | 1A 6/ 1112 | skl 6O
= e =

2}
1

o’ VA Lo
L6456 TudfmIzAy .01

gLl



4 ' o
AMTNN 22 ﬂﬂ?ﬂ?z?ﬂﬂiz?ﬁﬂﬁﬂqﬂzuuu?ﬁﬂﬂnu%ﬂﬂﬂﬂﬂﬂﬂ

1191 Tous1115914

v
Ras s

g??ﬂﬂuﬂsuuuﬂﬂﬁﬂl

a

FAMBIBINGHBANN L THY

qv cod o
-.1750 uUHEAYNTZAY .05

Az UUY _ »
el ' - N /2 I, '
. 67-73 74-80|81-87{88-94 {95-104{102-108109=115{416-122 |123-129|I£(¥)| Y|YF(Y) | Y £(¥Y)|XYE(X,Y)
AVunhdal ' ' T
£(X,Y)
47=49 1 115/ 5 25 10
by-46 1 2 1 1 514) 20 80 12
4q-43 . 1 2 1 2 613] 18 Sh =3
38-40 - 2 1 1 612] 12 2k -k
_22=37 A 1 f 3111 3 3 -6
- 32-34 2 1 1 1 1 6lol o 0 0
29-31 1 1 k1 -1 1 <1
26=28 1 1 k2| =2 i 6
| 23-25 ‘ 1 1 2 b3| -6 18 -3
£(X) 2 2 5 3 3 7 3 i 2 31 Lo 209 11
/x’ I U I T I 0 j 2 3
X£(X) -10 -8 |-15 -6 <3 0 3 8 6 25
/ %2f(X) 50 | 32 | 45 |42 3 0 3 16 18 {h79
X ¥ £(X,Y) 0 | =k 115 1=10] 1! =6 0 -2 30 18 1M |

6Ll



4
ATIN

v . :
(% : o os o (% =
23 NIINTzINNT :ﬁ?’lﬁ‘ﬂ’ﬂ\?ﬂleuu?ﬁﬂLLDUWﬂﬁﬂU?}ﬂdl’d’??U NUAZULUUNRUN ﬂ%‘sﬁ’]ﬂ'lls}’\ﬂ\iﬁmﬂlﬂ\luﬂ LT8Y

Tse1Tuulodun sus
b))

XY

octL

AzluY . ]
: HIN Hy/ 1> /!
AP 53-61[62-70|71-79 |80-88 [89-97 |08-906 |107-1145[116-124 |125-133/1£(¥)| Y |Y¥£(Y) |Y£(Y)|XY£(X,Y)
LuLnAdel : \ '
£(X,Y) :
47-49 12 1 1 1 5,51 25 | 125 40
LL-L46 3 31 41 12 48 36
4143 24 1 | 31 3] 9| 27 9
38-40 _ 1 2 2 - 51 21 10 | 20 0
35-37 1 1 2 1 Il sl 5| 5 -3
3234 1 3 2 6| 0] o 0 0
29~31 1 3 2 61=-1] -6 6 7
26-28 2 1 1 1 1 6 |=-21=-12 2k 26
23-25 3 _ 31-3] =9 | 27 | 36
20-22 | L== F‘l 4o | 16 8 _
£(X) 7 1 4 8 | 12 4 1 5 1 43 30 {298 | 159
X' 4 | -3 | -2 | & 0 q 2 3 4
X£(X) 28 | -3 | -8 | -8 "% [y 3 s b | 2n
faf(x) 112 9 16 8 0 L L Ls 16 21k
¥ sx,v) | 52 6 8 y 0 7 > 60 20" [l 159
_ de o d o
r = «7356 WMUAPYNTSAL L 01



:3 o v o ar . [ » or <
ANTINN 24 mrm:vﬂniz?'w‘mﬂ:uuuﬁrmLmuwﬂﬁﬂmmgﬁﬁmnmzuuuvmm?mmmmnqwmunLmu

XY

v e d e
4197 Tiudrfgnssfy .05

Tra1Fuufneun?
AT '
I . 11 Io /1
Az UUY 61-69|70-78 |79-87| 88-96 [97-105.4106=11k4 |115=123 |424=132 |133=141)| £(¥) | ¥ [¥£(¥) |¥7r(¥) |XVF(X,Y)
WULNAED .
51-53 PED ) o]s] ol w0 0
48-50 0 | b o4 9 0
4547 1 11 3] 3 6
4oLl 1 1 1 3 6 1 2] 12 | 24 2k
39-141 1 A 1 311 3 3 2
36-38 1 1 2 1 #5110 0 0 0
23=35 2 1. 3 |-1] =3 3 =2
30-32 1 1 2 =2 -4 | 8 -8
27-29 1 1 (=3 =3 9 6
___ 2h26 0 | -4 0 0 0
21-23 1 1 [=5] =5 25 10
£(X) 1 2 L 5 1 3 L 2 0 22 3 81 38
x/ -3 -2 1 0 1 2 3 by 5 )
X£(X) =3 |-h  f-b 0 1 6 12 8 0 16
/ ;é/zf(x) 9 18 | uo/lio N} 12 36 32 o, lo2
XY £f(X,0); o |16 1 -0 2 10 21 -12 0 38
r =

Let



ﬂﬁiﬂd% 25 nw1n5:$hnr:awﬁmﬂqﬂ:uuuvqnuunwﬂaaumaqg?%hﬁhﬁ:uuuuuaﬂ3%1nwuq§hnqumadﬁhL?ﬁu e
TratToudnTinT a4
Azl ' -
wIn ' /7 > ;7
— 67-75|76-84 |85-93|9k=102 [103-111 1125120 | 121129 [130-138 |139-147 [148-156|| £(¥) | ¥ |v£(Y¥) 25(Y) | XYE(X,Y)
Luunnday
£(X,¥) :
4648 1 114l 4| 16 -8
4345 1 113 3 9 12
Lo-k2 A 2 4L | 2 8 16 12
27-29 e L 1 1 L L 2
34-36 2 3 510 0 0 0
31=33 1 1 511 -3 3 )
28=30 2 1 3 |=2] =6 12 6
25-27 | | 1 1 ° 2 |-3] =6 18 6
- 22-2k 3 1 1 7 |-b| -28 | 112 72
£(X) 3 0 1 5 5 - 6 7 2 - 0 1 30 =24 | 190 | 105
X/ -5 | <4 |3 | <2 -1 0 1 2 3 4
X£(x) | =15 0o |-3 |-10 5 0 7 4 0 4 |]-18
ex) L 75 | o |9 | 20 5 0. 7 |_8 | o 16|l 140
X ¥ #(x,01) | 60 0 9 10 9 o) =3 8 0 12 105

XY

o’ VA ar
.6098 udAyNIziy .01



4 [ vav o [% v
ANTIIN 26 ﬂ’]’a‘ﬂi:ﬁmﬂT:"?‘]U?&ﬂﬂﬂSLLuu"V’]ﬂLLDUMﬂﬁﬂUTﬂQtd’)“??_mllﬂ:LL‘L!HVIBJ')ﬂ’?"‘”ﬁ'\ﬂ’]lﬁﬂ\iﬂi}iﬂﬂduﬂLii!u

= G o
Tiqtiﬂuﬁmiﬁsq?TUMU

123

XY

nzULY
89-95| 96-102{103-109|110-116 |117-423 124-130 1131-137| 138-144 | 145-151) £(Y) é f}(Y) {Zf(y) féf(x,y)
£(X,Y)
20-22 1 1] 4] 41 16 16
4749 1 Ly 1 61 31 18 L 21
LL-46 1 r Y g, 1 b1 2 8 16 6
L1-43 1 1 1 5 % 1 71 1 4 fd 2
38-40 2 2 3 1 1 9| ol o 0 0
32=37_.1 1 2 1 bj-1) =4 b 4
32-3L 1 2 1 1 5] =2] =10 20 18
29-31_ | 2 | 1 e bl-3]-12 | 36 33
26=28 1 1| =] =4 16 8
23-25 1 1 2| -5|-10 | 50 15
£(X) 5 2 6 6 9 6 b Y 1 43 -3 | 219 | 123
x/ -4 -3 -2 -1 ;e 1. 2 3 Iy
X£(x)  |-20 | -6 -12 -6 0 6 38 12 =1
x2£(x) | 80 |18 2k 6 0 6 16 36 16 |l202
XY £(x,¥) | 48 6 18 2 0 9 6 18 16 1123
r = 5871 ﬁﬁhﬁhﬁ@ﬁszﬁh .01




t-'§ ’ ¥ o’ i . o . o
ANTIM 27 NATNT :%\ﬂj‘z?ﬁﬂﬂﬂ\lﬂ:LLuu?'}ﬂLLHUWﬂﬂﬂU“ﬂﬂﬁ Q’?‘*ﬁlﬂﬂﬂ:LLuuWJ’Jﬂ’?%’lﬂ’]ﬂé’\ﬂxjﬂi‘,i&ﬂ’ﬂ\iuﬂ LTHU

a a
TidliﬂHQﬁi?mﬁiﬁu?Wﬂﬂﬂu

—

124

—_— ————— , e == ——— L =================
AZUUY 5 , :
WUIR ‘ ; ' : : /! 2 /]
AzuuY 6775 | 76-84 |85-93 | 94=102 |103-111 [ 112=120441271-129 | 130-138|439-147 | 148-156 |156-165| £(¥)| Y Y£(Y) YoE(Y) [ XYE(X,Y)
UHRGEN :
A£(X%,Y)
4547 1 1 2 | 4] 8 32 32
4oLl 1 2 1 L | 3] 12 36 18
3944 2 1 2 ‘5 1 2] 10 20 16
36-38 1 1 3 1 6| 41 6 6 -1
33-35 1 1 1 2~ 1 1 7] 0ol © 0 0
30-32 1 1 1 1 2 6 |=-1] =6 6 11.
27-29 1 1 2 y |-2]| -8 16 1h
2426 1 2 3 1=3] =9 27 3
21=23 1 1 | =4] b 16 b
£(X) .2 0 2 4 7 12 3 3 3 1 1 38 9 159 97
X -5 | b | -3 | =2 -1 0 010 2 3 4 5 | |
X£(X) -10 o | -6 | =8 -7 0 3 6 9 L 5 —
¥2£(x) 50 o | 18 | 16 7 0 3 12 27 16 25 |l 474
= . : : :
XY £(X,Y) 5 0 9 4 11 0 6 6 24 12 20 97
' o o d o
Tyy = <5936 WULAPYNTSAY .01



:5 s vav ar a [ % o
AT N 28 mrm:ﬁmn7:mumnﬁ:uuutmumﬂﬁﬂmmgawmm:LLuuummmmmmnqmjmunLmu

= <
qutsﬂutmfﬁnqﬂnﬁnyq

"W | ' = I P
Az uY 14-15]16=17{18=19{ 20-24122-23 || £(¥)| ¥ [ Y£(¥) | Y°£(Y) |X ¥ £(X,¥)
LULNAED ,
#(%,Y)
51=53 1 1 1 30, 2.6 12 6
4850 1|1 8 40 | b 10 10 -3
45-147 1 8 ? 3 2 %21l o0l o 0 0
o=l 2 9 3 3 17 | =1 1-=17 17 10
39-41 1 3 3 2 9 | -2 |-18 26 2
36-38 3 2 | 3 2 10} -3 ]-30 90 18
32-35 1 1] =4 | -k 16 b
30-32 1 1] =51 =5 25 -10
27-29 1 11 =6 | =6 _36 0
£(X) 8 2L 26 9 73 -bh k2 27
x/ -2 | - 0 1 2
XT(X) -16_ | -2k 0 9 12 | l-19
£2£(x) 22 | oh o | 9 ah | 89
X1 £(x,1) 24 124 ) 4 =S| Fag 11 2y
r = 4013 ﬁﬁhaﬁﬁ@ﬁs:ﬁh .01

XY

G2L



126

'y 3 x
ﬂﬁﬁﬂ?ﬁ41u3ﬁqﬂ (z) ﬂﬂGﬂ"ﬂﬂh?ﬁﬁ&ﬂﬂ%ﬁﬁﬁﬂﬂﬁﬂlﬁﬁLiﬂﬁﬂﬁuﬁﬂdﬂﬂﬂ

Luutklanus e ﬁ?ﬁﬂuﬂlTﬂﬂ%ﬁﬁ&ﬁ“ﬂﬂl?ﬁuﬂﬂd

150

ﬂuaﬁwaﬂswawni

.2800

QW’]MWW’JV]HWGH

»2800
2800
« 3509

*‘

4 1
= .7979 iy AT20L .05

gk
2
5=



127

) § ’ ¥ . 1 t )
o . L o
ﬂﬁﬂﬂ?ﬁaiugﬂﬂa (z) DINSHLUUMNNUUVUNAGRUBIULBVLTDINABIDINOL
1 ' o

<} . ar A} ar =
HﬂﬂﬂﬁﬁqﬂfzﬁQWQUﬂLTﬂu%ﬁﬁu@ZUﬂliﬁuﬁﬁﬂ

. Q9é8 + o 067""

UYAINYAY

—_—

[ee

= :%ogg

t ]
N o or
- 6228 lullidfursel .05



128

1 1 ' 1 1

o v ) . o
RIBATAGILINGR (2)  DIRZUUUIANULLNATOLEIUL BN L TRINBABINDY.
% . .

o o w
UL ENHAIIUT SBINJUNL THUTINDUASUNL Tilﬂ‘l)@\i

ARIRINTOFEATNAY

.6800
«3310

1
o o 4 -~
2.0544 . WiudfprsAl .05



129

N 1 i
o & : ot
ANENTAEIMANGA (2)  2DIAZLUUIINUULNAERLDAU LB LTRINNBIDINGY

12 ! ar A w S
PN 3 UUY TERNUNL TRUSNBLACUNL THUWRN

X, - %) - (/((1 -/22)

INT0 UL INYAY

7632

1.2000
3736

-

ar’

H
o o ) %
1.3736  luhitdfmreal .05

o



130
t I
nanTﬁaquqnqﬂ (z) ﬂﬁdﬂuvuu?ﬁﬂuUHMWQGMﬁﬁvLDﬁLTQQﬂﬁLﬁEGﬂQD
uunuﬂnnqwmrvuqqqunt?uumﬂﬁuw~vntfﬂumnmiu%QQﬂqﬂs,maﬁq 15 3 5 1hou

a9 16 3 4 (hou

N 10.#3 O

ﬂ‘lJEJ’J“fIEJVWJQIEﬂﬂ‘i

2299 + .3598

ammnifmw'mﬂmaa

1.1400

/ 5897

H |
= 1.4846  luiludfmrzal .05



131
! TP ' o |
ABATAEIUINOA (2)  DDIASULULMNUVLUNATRVDIULDIL TBINEADINGY
|

« w A ar A a ! ' & <
uﬁﬂﬂﬁﬁﬁﬂfzﬁ?qQUﬁLTﬁu%ﬁﬂuﬂzuﬂl?ﬂuﬁ%ﬂju%ﬁﬂﬂﬁquﬂﬁqﬂ 15 ﬁ 5 1A DY

16 1 & Lheu

ARIAIN PRI INAE
| 5466

2100
« 7393

] !
Ao , e d (%4 !
28141 lumhiydfmr el .05



132

LI 4 -
ANBATFAEIINGA (z) FDIALULUIINUILNAFRLBAULL DI TDINHIBINOY
t . } 1
o ar 4
WP EeANT £ atTD L Trugasua i L Faunle lugasanyreuane 15 1 5 1hou

- §9 16 T & 1hou

AL INLRENE N

1687 + .2627

Q‘mﬁNﬂi NMW’JVIEHQ 4
T

.8100
.6568

{
(%

’ {
1.2333 luilifudftiisrzal .05



133

T 1
ﬂq?hiﬁaauanqm (z) D4R Uuu?ﬁﬂuﬂﬂMﬂaaUﬂﬁ!LUﬁLTuGﬂﬂHﬁﬂdﬁﬂLWﬂ

v 1

3 uuueaNy ’?vﬂ?“"lﬁ’]’NHﬂL?ﬂWﬁ’]ﬁLLa”uﬂLTUU‘L’iﬂJ\flu"E’J\‘]ﬂ'}ﬂT;‘!%’J’]\i 15 ﬁ 5 mau
4 : .

oe 16 1 4 1q9u

@80+18 9

QRININTAUPN TN

q[_ 2.7459

_2,6400
T1.6570

t 1
A , ad ar
1.5932 ludduavfimszal .05

n



134

t ] 1 1
o A o
AABNTAZILINGA (2)  2DIALULUUIANULLUATALRNUL DA L TRIANBIDINGY

Ival awr A t:x' ! 4
uuuuﬂaﬁQWuizmawaunL5ﬂumﬁﬁua:uﬂLiﬁuu@qiu%aaaquzuqqq 16 1 5 1anu

917 34 teeu

ﬂ‘lJEI’J'VIEJ%lﬁ‘WEJ’]ﬂ‘ﬁ

¢ 1202 + 1517,

awwaqn%mymmmaa
J_' .2719

.8700
w521k

L

. t 1 '
Ao ., e o’
1.6686  luliluafmrzsy .05



135

I
o . < or
ﬂﬁﬂﬂ?ﬁﬁﬁuaﬂqa (z) 9949nz Muu%ﬁﬁuﬂﬂm%@ﬂﬂﬂﬁuLDﬁLiﬂﬁﬂﬁlﬁﬂﬁﬂQL
]

1
uﬂﬂﬂﬁﬁﬁﬂi“ﬁﬁﬁﬁuﬂl?Uu?ﬁﬁu@vlﬂlTﬂuﬁmQ1U%ﬁﬁﬂﬁﬂiwhﬁﬁd 16 ﬁ 5 LWGU QG

17 ﬂ L LﬂDu 5

@]um__%mr_mm
WA UYITING1AY
o

]
.
\N
\n

]
ON
~J
ﬂ
O
5
t -
=h
c(
mﬂ
>
eg‘
=2,
Q—’
Qe
2R
[ ]
(&]
\un



136
[ { A 1 ‘ l
ﬁqnmsqﬂauQﬂqm(z) IR uuuvqﬂuunmwaanaquaﬁLiaqquﬁaanQL

1
HULRHNYANNUT S MQ@GUﬂLTﬂU%ﬁUM@"uﬁLTﬁﬂﬁﬂ@quﬁﬁﬁﬂﬁﬂi”ﬁﬂﬂﬁ 16 ﬁ 5 Lﬁﬂu

ﬂ1 17 ﬁ L lﬂﬂu

ﬂuﬁlﬁﬂﬂﬂﬁﬂmﬂ‘i

’ 1986 + 1219

Q‘Wqﬂﬂﬂim 3:!;3@'1'37]8'1&\ t
=

4800
. . 4801

.9998 Tnuuﬂaw AWT=AY .05

1t



137
] ' : i
ﬂﬁﬂﬂ?ﬂﬂﬁﬂﬁﬂﬂﬂ (z) ﬂﬂdﬂ uuu?ﬁﬂuHDMﬂﬂﬂﬂﬂﬁhlaﬁLiﬂﬂﬂﬁbﬁﬂdﬂqﬁ

1
13
W 3 uﬂﬂﬂﬂﬂmﬁ?ﬁi”%QﬁGUﬂL?ﬂuﬁﬁﬂu@”uﬂLTﬁuﬁm01U%ﬁﬂﬂﬁﬁ?“Mﬁﬁﬂ 16 ﬁ

5 Lﬂau mo 17 ﬁ 4 Lﬂﬂu

) '.g/Qq 7/1L2)
2

/Ei:- X ,
: ﬁ; -
4%%§5E§§» (3. :
¢ a | u‘ . N
ﬂUEJ’J Y N E1T173

,5109 + 48329

ifu 11?3'1'37]8'138
=

1.2821

2
ﬁ ,
) &
II@
::!)

. 1 L4
< ar o A o~
. 4836 lulfidfmrzat .05



138

ﬁﬁﬂﬂ?’l’huﬁﬂﬂﬂ (z) 193Rcl hu?’]ﬂLLUDTAﬂﬁDUQ'\ULQ’] L T’D Gﬂ’]h’]’ﬂﬂﬂ‘]ﬁ
t

wuuBianIuT e M?ﬁdﬂﬁlTﬂu%ﬁﬂu@”uﬂLiﬂuumﬁquﬁﬁdﬂﬁﬂi LI 17 ﬁ 5 Lﬂﬂu
ﬂd 18 ﬁ 4 Lﬂﬂu '

cad
ﬂ‘UEI’JVIEJYJﬁoWEJ’m‘i

2197 + 1340,

quﬂﬂﬂ%mwﬂﬂ?ﬂﬂqaﬂ
T

1.2100
« 5957

y

. I
Qo ., o d ol
2.0346 WUHEIRUT AU .05



139

ﬂﬁﬂﬂ?’]@’m’mt}ﬂ(z) ADIPS LLHH”')T‘ILLUUM%@@H’(’]’WL’]']LT’fNﬂ‘ﬂr}’]'DxiﬁﬂH
LLlliUﬂﬂ’)’]?,J? mwunuvwmmmmmmum\ﬂumemmwmq 17 1 41 5 mau

v 18 9 4 1hau

ﬂuﬂﬁﬂﬁmﬂﬂ‘i

$2517 + 1719

awwaﬂnimumﬂmaa

2=
$

V o o ar o
. 1.L4956 lultdfmszay .05




140

1 1 3 4
ﬂﬁﬂﬂ?ﬁﬂﬁﬂﬁﬂqﬂ(z) ﬂﬂﬁﬂ“ﬂﬂh?ﬁﬂ&ﬂﬂ%ﬁdﬁﬂﬂﬁuLDﬁLTﬂﬂﬂﬂﬁﬂﬁﬂﬁﬁﬁ

uﬂﬁﬂﬂﬁﬂﬂﬁﬁufwﬁﬁﬁﬁuﬁL58U%ﬁﬂuﬁwuﬁlTﬂﬂﬁﬁﬂiﬂ%?ﬁﬂﬁﬂ?”%?ﬂﬂ 17 g 5 LPDu

20 18 § 4 1hau

quﬂﬂﬂim MQNUVIEJ']E\ t)
I

L800
17

5

i}

t {
N o, e or
. 7768 lumibanfmsr=ay .05



14

] [ 4 l

A1D WTﬁ@QH?ﬂQﬂ (z) ﬁ@dﬁ”ﬂﬂﬂ?ﬁﬂﬂﬂhﬂﬂaﬂﬂﬂﬁuLﬂﬁLiﬂﬂﬁﬁﬂﬁﬂﬁﬂ?ﬂ
v ]

WG 3 uﬂﬂﬂﬁdg 19UT e ﬁ?ﬂﬁuﬂlTﬂuﬁﬁﬂua“uﬂlTUUMNGTH%QQGﬁUTZWQﬁG 17 ﬂ

5 thou o9 18 1 & 1any

ﬂ‘lJEJ’J“fIEJVJﬁNEﬂﬂ‘i

AT nena
J 25377

1
o

1
14343k ludidbarfpredl .05



‘142

AULINENINYINS
ARIANTAUNINGIAY



143

o E o 4 a (év
ﬂﬂl?ﬂuﬁuﬂﬁﬂﬂﬁﬂﬁﬂﬁm L ﬁﬂuﬂﬁﬂﬂﬁﬁﬂﬁﬂﬁ win

v

ﬁﬁWL?ﬂLﬂuuawﬂrquTwﬁm 2 920N LAY VWﬁaanmuuﬁamuqaﬁ

‘4 4
Mﬂ?ﬁuﬂfgﬁGHM?”M10MUﬁuwuﬂLTEQ "ﬂﬁ?ﬂ1ulﬂﬁtiﬂﬂﬂﬂﬁﬁﬂ€ﬂqﬁ maquntrﬁumu
’

Nﬁunﬁnuﬁﬁm 4 wyuunivgaragns® ?dﬂﬁ1ﬁuﬂl?ﬁﬂﬁﬁﬂﬂﬂﬂ&ﬁﬁ%ﬂﬂﬂnwuunuﬂu

1 v ]

N
AAUAINLEINT DLV T 99 URL T U vquqéluﬂqwuraunamaaunLrﬂuqnﬂﬁiuaum
71

9z Lﬂuﬂ:~Tumumanq:ﬁnmﬁluauﬁﬁﬂ

¥ Ak )| ?lmo

- a 4 as
AuIn lﬂﬂﬂﬁﬂuﬁﬂ

- a':} an
(4998123090 tﬂuuqnumﬂ)



1y

Ly LY
AMTWT 9 LUNATVITBNAdAY

' v v
R ”

- - B " d ‘ --.v.-"“/‘ . .
WAIINENL FUUDILTARIWAY ) UNBTARUIULTANLINAT  F9naUAn N LAY

Ll ° . o = = P clv ar »
ﬂﬂﬂqﬂﬂﬂﬁ$1uﬂfzﬂqﬁﬂqﬂﬂﬂﬂﬂQUﬂl?ﬂu 1ﬂ7ﬂlﬂHUﬁﬁﬂﬂﬂ ﬁﬂ?ﬁﬂﬂl@ﬂmNQHﬂT;?q

v

3]
- [}
N84
"Didn't you come in time this morning ?" asked Tom.
"Yes, I did," replied David,
1¢ Which is the most correct ?
A, David wae late that morninge.
B, David was not late that morning,
C. David didnt't come in time that morning.
" D, David asked Tom whether he had come in time
that . morning,
PNDY

1. )L bcxy @ Ui ()
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Fanndauuuulan1y (Paraphrasing)

A famous doctor had cured a child of a very serious illness,
The mother is grateful and éoes to the doctor's office tovthank him, .

"Doctor,'" Says she, '"there are some things we can't pay for.
I thought that you would want to accepi this wallef which I made
for you with my own hands,"

"Madam," answered the doétér rudely. "I don't practice
medicihe for sentimental reasons. You must pay me in money. Your
bill ié two thousand dollars." |

the lady opened the wallet, took out the five thousand
doll#rs she had put in"it aand gave the doctor two thousand.

1., How much money did the doctor lose ?

A, 'Seven thousand dollarse
B. Three thousand dollars.
C. Two thousand dollars,

D, Eight thousand dollars,

Love your lifey poor' as it ise. (You may perhiaps have some
pleasant, exciting, glorious hours, even in a poorhouse., The
setting sun|is reflected from the windows of/ the ‘pocrhouse as
bright as from a rich man's house,

2. What do the poor and the rich share ?

A, Moneye.
\ B. Life.
Ce The beauty of nature,

D. Homes,
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A thoughtful mind, when it sees a Nation's flag, sees not

the flag only, but the Nation itself; and whatever may be its

symbols. He reads chiefly in the flag the government, the princi--

ples, the truths; the history which belong to the Nation that sets

it forth.

3, What does the flag represent (7]

A,
B.
.c.

D.

The Standard of the gbverhment.
The Nation itselif.
Colors and.designs.

Its symbols,

The automobile ‘salesrooms opened at eight o'clock. Shortly

\

before nine, Mr. and Mrs. Burns had brought a car. It was a very

nice little car. It was very speedy too., The salesman lent them

" his license plate and they rode awaye.

4, How long did it take to buy the car ?

A, .

B.
C.

D.

“An hour,.

A month,

‘A weekas

. A day.s

5, What does thez in line 4 refercto ?

A.
B.
Ce.

D,

The '‘salesroomss
The salesman.,
The - carse.

Mr. and Mrs., Burns,
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A half-starved wolf envied é dog'who appeared to beAwellmfed,
fat, and strong. "Come to our house," the dog said to him "You'tli’
find everything to eat there." The wolf was very happy and started
to go home with the doge On the way, however,‘he noticed something
on the dog's neck. "What's that 2V "th much," answered the dog.
"It's only the mark of m& chain." '"Your chain? Does that mean |
you're tied ?" and with these words, he ren away. He thought he'd
rather be hungry thaun be without libertye

6. Why will the welg remain hungry ?

A, He doesn't like meat, '

B, The dog wouldn't share his food with him;

Ce He preferé to be frees

D. The house was t0o fate
On Féﬁruary 14, 1493, Columbus prepared as comblétely an
' account of his marvellous voyage as was  possible undef the circume=
stances. He wrote the details of»his journey on a piecé of parch=
ment,-wrapped it in a piece of waterprOOf cloth, then pleaced it
in a barrel and threw it into the raging ocean _ If I thought
there was one chancé im a million offfinding it, I woﬁld.take my
power boat, thé First Folio, a#d cruise “in the neighborhood ofv

the Azores forever' !

7. What would the author like to find ?

" A, The island of the Azores.
B. A power boat.
C. A manuscript prepared by Columbus.

D. A new ocean.

’
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For a long time, ﬁooks were all written by hand. They were
_scarce aﬁd dear, and only the wealthy could afford to have them,
and few could read them., Even great knights and nobles could not
read them, for they spent all their time in fighting and hunting,
and had 1itt1e timé in which to learn. So it came about that the
monks who lived a guiet and peaceful 1life bécamevthe learned hén.
Books were written and copied in thé panasteries, there too they
were kept, and the monasteries Secame not eonly séhpols, but the

. libraries of-the cﬁuntry.

v8; Who were the first scholars ?

A, The weaithye.
' B. The great knights and nobles,
| Ce - The hunters.
D. The monkse.

Most.capitai ¢ities have simply grown from small cities.
Washington, however, was planned as the capital’ of a great nation,
It was designed by a French artist who first made a study of the
principal capital cities of Burope. His plan followed; in general,

the plan of the ‘beautiful French city 6f Versailles.

9.' Why is Washingtonian anusnal capital city, ?
A, It was carefully planned.
 B. It grew from a small city.
C. It was built by a general,

D. It looks like Paris,
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A man iiving near Ayudhaya recently had a most unlucky
day's fishing. He was standing on a low bridge when he had the
misfortune to knock his tin of bait into the riwer, Leaning over
the side of the bridge, he tried to hookf?he tin and pull 1t out
of the river, As he dld so, his car kefzwf 1 oul\oi his pocket
and disappeared in the water, ‘

Feeling thoroughly annoyed with himself and his luck, the
fisherman lent over the bridge %o try to seevwhere his keys had
gone, As he did so,. the bridge collapsed and he fell into the
river, . This was the laBt #trdw. The ficherman crawled out of
the river and went back/to his care There he discovered that he
had locked the doors and could not get iﬁ. His anti-thief lock
had immobilized his cai. There was nothing left for him to do
bgt walked sadly homne, »

10, How did the tin of bait get into the river 7

A. Tt $€11 in when the bridge broke.

B, It fell in when the fisherman fell in,
. Co ((The !fishernan hit it in)accidentally.

D. Someone threw it into the river.

11 Wmen 1aid . the) fishermén First lean (oven theobridge ?

A. Whéﬁ he preﬁared his fishinge.

B. When the bait fell in.

C., When his keys fell in.

D. When he tried to pull the tin of bait oqt of the

river.
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42. What was the final straw, according to the passage ?

A, Having to walk home,

"B, Being unable to get into the car.
C. The collapse of the bridge.

- D, Having to crawl out of fhe river.

As we approached hié house, my €ompanion looked around him
witﬁ joy. "How often," he said, "I have walked up this street
when I was coming home from sehool for my vacation. My father
always loved to have us around him on family holidays. It was
the policy of the good old/man to make his children feel that home
was the happiest place¢ in the world, |

13, What did the Epeaker enjoy most when he was a child ?

A. Going on a vacations
B. A happy hpmes

Ce Recediving gifts,

D, Seeing friends.,

- 44, What does him in line 4 refer to 2

A, .The speaker,
B, The father.
G¢v #They writers

D. The companion.

Read the following advertisements and answer the gquestions

which follow,

A. CHINESE RESTAURANT near Birmingham wants a head cook.

Minimum wage: £ 18 a week. Wife also cooks, - Write Box J. 438.



B, BELFAST, Memorial Hospital. Applications are invited
for the fost of junior assistant cook (single male) at the above
named hospital. Previous experience neceSSary. All staff live in.
Salary scale $500 to $625,-according,to experienc?. Apply to Staff
Manager.

C. AMERICAN, single male; juet graduated B, A., seeks
temporary position teaching English, in or-near London, Write
Box. X. 311,

AD. WELL-KNOWN BUBLIC SCHOOL invites applications for a
school nurse, as soon as p0551b1e. Salary £750 to £835, according
to qualifications. Only uamarried ladiesineed apply. Vrite Box.'

Y. 2“6.

15; Which is about women %

16. | Which is about married person ?

17. | Which says obviously that thé persons
need livelat' the place |where  they'work 2
:18. ‘Which is an advertisement by people |
lookihg for jobs ?

194 Which one is about a person who only

| wants a job for a short time ?

20; Which is about persons who have done

the same kind of work before ?
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e
ﬂﬂ%ﬂﬁanunuwﬂqﬁu (Interpretation)

A patient comes té consult his doctor, He says. '"Doctor,
I'm very nervous. Every time I sing, tears come to my eyes. ¥hat
can i do 2V 4
The doctor replies, !Put cotton in jour ears.'

1. What advice does-the doctor give his patient ?

A. Donft be'nervous,
B. Don't be sads
C. Don't listen to your'own voice.
D. You had beftdr sHut your eyes when you sing.
The whistle has just blown and we're on ouf way. It's very
hard for me to realize that in a few days I'1l be a thousand five
hundred miles away from you éhd from the lovely'city of San Fran-

cisco.

)

2. Where<is the passenger ?
A. In a care.
B. [In‘a plané.
c. T4 a boat.
D. In a train.

.3+ How was the author ?

A, He was glad.
B. He was Sado .
C. He was furious.

D. He was surprised.
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Jack stood wondering whether he would take a taxi or whether

he would walk, at last he made up his mind to save the money.

L, Which is the most correct ?

A. After thinking about it, Jack decided to walk.
B. Jack thought he would put his money in the bank.
C. After thinking about it Jack decided to take a taxi.

D. Jack thought he would pus hisAmoney in his pocket.

John is a student who isn't interested in sfudying. He -
prefers to have a go§d timet /Naturally, when he takes his examiné—
tions, he doesn't getsgood marks. Since he knows his father will
be‘angry with him,'he’sends a/telegram to his brothert's héuse.

In the telegram he asks his brother to prepare his father for the
bad news., The next moring, hé feceives the following answér:“
"Féther is prepared; You'a better prepare yourself."

5. What's going to lhappen to John ?

A. He'stgoing-to-meet his father a¥ school.
B. He's gboing to visit his brother.

C. He's going to send a telegfam.

D. He's going to be punished.

6. Which best deseribes: the brother's answer ?

A./\He mants John to be free.

B. He wants to warn John about what is going to happen
to him.

C. He wants to tell John that the father has already
réceived the telegram,

D. He is worried that Johﬁ may not come to see the

father in time.
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Qhe cold frosty daj,_an ant was eating some grain which
shg'had stored carefully in the summer, A graséhopper, half~-dead
with hunger, begged the ant to give him just a little bit to keep
him alfve. "What were you doing ?" said the ant, "all of last
summer 2" "Oh,? said the‘grasshopper, 6a}1 summer loﬁg, I sang
and sané," The ant repiied, iaughing'as she moved away with the

grain:" So you sang all éﬁﬁmer.? Well, you may dance all winter."

7. Why didn't therant give' the graéshopper some grain ?
A. The ant Was séifish. |
B.A'The grassﬁdpper.didn't dance for the ant,
C. The grasshogper was) fierce.
D._ The grasshopper had not worked during the summer.,
Lincoln rose to speak: ' He put on his glasses‘and fook from
his inside coat pocket the tWo-small sheets of paper on which he
had written his speéch. However, by this tim¢ he knew most of
the speech by memory, SO he referred to the sheets only briefly.
He spoke slowly and c¢learly, but his speéch lasted just five
minutes. It contained only.nine senténces, ending with the famous’
words, "a government of the people,Abj the people, and for the
people,"

8. - Who should govern a nation ?.

A. The government.
B. The soldiers.
C. A president and vice-president.

D. A1l the people.
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9. Which best describes Lincoln's speech ?°
A. It wasn't well prepared. |
B; It wasn't worth listening.
C. It was beautifully spoken.
AD. It consisted of difficult words. -

I felt the joy of exploration/for the first time. The
island was uninhabited. I had left my shipmates behind, and
nothing lived in front ofme except animals and fowls., I tﬁrned
this way and that way'among the trees. ‘Here and there were flower-
ing plants, uﬁknown to me; /here and there.I saw smakes, and one
raised his héad from/a ledge of rock and hissed at me with a noise
not unlike the spinnigg of ‘a top. Little did I suppose that he
was a deadly enemy and /that the noise was the famous rattle,

10. What was the autheor deing 2

A., Hunting smakess
B. Lookiﬁg for pianté.
C. Exploring the island.
D. Leading his shipmates.
‘The same whom in my schoolboy dayse.
I lisﬁeﬁed to; that Crye.
Which made me, look a/thousand wayse.
in busﬁ, and tree and_sky.

11. The '"Cry' was made by .

A. & bee.
B. & hen.
C. a bird,

D. =a girl,
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12. What was the author's feeling towards the cry ?

A. He was sad to listen to the cry.
B. He was eager to listen to the cry.
C. He was afpaid to listen to the cry,

D. He was furlous to listeh‘to the cry.
5 ,«/’ .

With more irrigation it would be possible/tokéxgw more
Lo
crops, but it is not certain that m@rgﬁts\¢ould'be found for the
food produced.

13, -Which is tHe most correct according to what the writer

wanted to say 2 2

A. It woilid/be foolish' to grow more crops if markets
could mot be found for them.
y Be Irrigation is useless in growing crops.
C. More irrigation is useful,
D. Markets are not important for crops.

During his Yast few years, his 1ife wWas peacefuliand.satis-'
fied. At last, he found understanding and kin&ness. His wife
admired him and cared for him, She'had a lovely face and a finé
voice., It is pleasant to picture the grayhaired poet sitting at
" his organ playing while his wife sinés. He can't see her bright
eyes or hér golden‘hair, for he is blind, but he can enjoy the
sound of her soft, fresh voice.

14, How did the blind poet spend his last year ?

A. Admired by his friends.
B. Surrounded by riches.
C. Happily.

Do In pain P9
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Examine the following data about planes.

SST
Origin UeSe
Maximum Takeroff .

 weight 750,000 1b.
Passengers. 298
Length | 298 fte
Wing span 143 £t

Cruising speed 1,786 m.p;h.'

Jet Concords T -1 44

Germany British-French Russian

9

465,000 1b. 385,000 1b. 330,000 15.

nAg 4 - 128 120
210°£L, 193 £t. - 128 ft. 60
95 ft. 84 ft, 72 ft.

1,400 w.p.ha 1,350 m.p.h. 1,550 m.p.h.

15. Which is the most suﬁerior of all.?

A. The SST
Bp The Jet,
C. The concorde.

‘D. The TU-14h4,

16. Which is the most correct ?

A. The Jét carries less passengers than the Tus1ik,

B. The Jet carries more passengers than the SST;

C. The Concorde carries tiore passengers than the Jet.

D. The TU-akklcarries’ less passengers Than the Jet.

17. Which is the most correct ?

A, 'The'SsT's 1éngth is' shorter than-the ‘TU-44k4's length,

B. The Jet's wing span is wider than the SSP's wing

spane

C. The concorde's weight is greater than the TU-1lkl1g

weight.

D. The TU~?#h's cruising speed is less than the Jet's

cruising speed.
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T always settle down comfortably in the barber's shop and

listen patiently to my barber, He'explains the present political
situation, women's fashions, or tells me\jpkes which I have heard
at least five times already. 1In two minutest get a remarkable
amount of informatibn, as well as a hair-cut. But last week our
conversation was very short indeed. ' Me he ard ioud cries of "Fireln
coming froﬁ upstairs. Customers and barbers. rushed out of the shop
immediately., We were certainly a funnysight to passers-by! I had
awhite sheet round my neck and my halr was half cﬁt. My barber was
close behind me with a comb/and a pair of scissors in his hand,

The man who had sat next #o/mé was not' so lucky. There was soap\
on one side of his face gnd his barber, ran after him holding a
shaving-brush in'one hand and a' ‘razor in the other!

18, The title of the passage should be.

A. My Funny Barbers.
Be A Funny Incident‘at the Barber's.
.C. My Feeling towards thé Customers.
. D. The Customers! Feeling towards the Barbers.

' 19. What do the-first ‘three sentehces‘tell us ?

A o ~They. tell us. why, the writer likes to . listen to the
barbers' talk.

B, They tell us how the writer has his hair cut.

C. They tell us why the Writef likes to have his hair
.cut at the barber's.

D. They tell us what the writer dmes at the barber's.
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20.° What was the author's feeling towards what his barber

told him 2

A. He was interested in what the barber said.

B. He was annoyede.

C. He was

D. He was eager to e vhat the barber said.

AULINENTNEINS
RIAINTUNRINYINE
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20VNEDUNLY THAHAIN_(Extrapolation)

Las£ week I went to lunch with my friend George. George
is very fat. He likes good food-and a lot of it. Ve sat at a table
in a restaurént,= The waiter brought a tray full of thigs. After
a big meal we ate Some cheese gnd dranl some coffee., ‘''We really
mﬁst go now George," I said, "We have Been here for nearly thfee
hours, It's ten to four,' :

"What do you mean ?! asked George in surprise., We cant't
leave now. It's time fér tea I

1. If the writer accepted what George had said, what would

have happened ?

A. He could have wrefused to eat with George.
B. He would have been angry with George.
C. He could have gone home immediately.

D. He would have eaten with George.'

2. What will the readefs-of thisApaésage think ?
Aes George was' greedy. | |
B, The writer didn't iike George.
Cerv The-writer . was, impolite. and éelfish.
D. George wasvstill hungry.
Three o0ld men, who couldn't hear very well, were walking
along the street together. One said, YIt*s windy today.' The
second said, "No, it isn't. It's Thurday today." The third said,

"Yes, I'm thirsty too. Let'!s go and have a drink."
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3« What would or wouldn't happen next ?

A, The three mep‘would talk about the weathér.
B. The three men would not understand what each to
them was seying.
Cs The thrée men would see the calender to malke sure
what day i-t WaSe |
D; The tﬁree mén‘would talk abouf what they were going
to drink.
I worked as arpostman for al short fiﬁe. But I am afraid of
dogs and I had a lot of #trouble. One'day; I tried tb deiivér a
post~card to a}bié houses /I /got(ofif imy bicyclé and at once a large
dog ran towards the gate. It made a lot of noise aﬁd in the end
I dropped the card in the garden. The dog picked it up immediately
and carried it into the house. The dog was a better postman than
I was ! '

L, If the posStman hadn't met the dog, what would or wouldn't

have happened ?

A. He wouldn®t have been‘frightened.
B.  He woﬁldn't have. delivered the letter.
Ce. _He wouldn't -have acted bravely.
D." "He' would'have "delivered the 1etterrby himself.
Tomorrow's weather: Strong winds will strike Scotlande
There will be heavy snow in the north of England. Rain will ﬁove
across Southern England from the wést, and wiil reach London by

tomorrow evening. Everywhere will be cold tomorrow.
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5. 1f strong winds don't strike Scotland, what will or

B

will not happen ?

A. There will not bé'heavy snow, rain and cold weather
in Ehgland. 7
B. Everywhere in England will be hot.
C. Everywhere in Scotland will not be fine.
D. I% will ﬁotfrain in the-west.
Yout!ll have arrived By the time Ivget to the station,
because I have to walk theres A taxi will be waiting for us.

6. The correct order of the events is:=

\

A.‘ You will aprive at the station. — I shall arrive
at the station.’ ___ The taxi will arrive at the
stafion.

B. I shall arrive at the station. ——You will arrive
at the station. ' The taxi will arrive at thé
station._ .

C. The taxi will arrive at the station. —TI shall
arrive atothe station ——You will arrive at the
station.

D._ The taxi will arrive at the station. =—You will
arrive’ at' the station. ——I shalllarrive at the
station.

Before closing the doof, he turned out the light, having

made sure .that no one was awake by listening for two minutes.
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7. The correct order of fhe events ié o

Ae He closed the door, listened for two minutes, then
turned out the light.
B. He turned out the light, listened for two—minutes,
then closed the door.
C. He listened for two minutes, turned out the light,
then closed the door. |
D. He listéned~fof two minutes, closéd the door, then
l_turned out the/light,

One day a fox approached a rooster and éaid, "I remember
what a wonderful singer yéur father was. I ﬁonder whether you can
sing as well." The rooster shut his eyes and begaﬁ to sing. The
fox smatched him in>his mouth and ¢arried him away. The people of
the town cried: '"Look, look ! TheAfox is cafrying off the rooster."
Phen the rooster said to the fox: "My lord, do you undefstand ?

- The people are saying that you are carrying off their rooster.
Tell them that it is yours, éhd not theirs; The fox opened his
mouth and said, ., "It is‘not yours; it is mine." At’that moment
the rooster escaped from the 'fox's mouth'and flew into a trees

8. What would happen as_a result ?

A." The fox couldn't"eat the rooster.

Be The fox would be.furiéus and hungrye.

C. The fox would'try~to catch the rooster again.

D. The people of the town would praise the rooster's

bravery.
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9, What will the readers think ?
A. The rooster was hardly deceiveds
B. The rooster and the fox were talkative.
Ce The people §f the town lpved the rooster more than
the foxa.
Do The fox could have eaten the rooster if he hadn't
talked.
When he had had his dinner, he paid.the bill and léft
without>waiting for tHé weaiteér to|come back with his chénge.

10. The correct order of fhe events is:«~

A, He paid the /bill| had his dinner and-left.
B. He left,‘had his dinner thén paid the bill.
C. He had his dinner, paid the bill and left.
D, He had his dinner, paid the bill and waited till
the waiter camé béck with his change.
When I went to-call on Werner; after ﬁnpacking my bags at
the hotel, I found that he was novlpnger at the old address; he
had moved to a different house about, 2 month before.

11, The correct order of | the events is:-—=

Ae I went to call on Wefner. I unpacked; by bags,
Werner moved fo his new housee.

B. I unpacked my bags at the hotel, I went to call on
Werner. Werner moved to a different house.

C. VWerner moved fo a different house, I unpacked my
bags at the hotel. ‘I went to call 6n Werner,

D. Werner moved to a different house. I went to call

on Werner., I unpacked my bags at the hotel;
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I was completely paralyzed by what happened. By the time

I was able to move, it was already much too late. The man had

fallen into the river.

12. The correct order of the events is:i=

A, I was paralyzed. I was aq move. The man fell

into the river. b

B. The man fell into thé river. I was paralyzed. I

was able tosmovee.
Ce I.was'able to movees The man fell into the river.
I was paralyzed.
De I was peralyzed. The man fell into the river. I
was able to ‘mov.e.
"Did you buy anything new in Eufope 2"  asked the Custom.
officer.
"Just a few small articles,'" answered tne lady. "I didn't
buy anything.valuable."
“May I open your case please 7" aéked the officer.
"Of coursey" said the 1ady; Wbhut it's only full of dirty
clothes." | |
"That doesnlit matter," replied the officer, 'I'm used to
that,"
At that moment, the ladyﬂs daughter, a little girl of six,
cried out, "Oh, you must not open that case, My mother has hidden

her new gold watéh in there. It's in her brown hand-bag!"
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13. The correct op&ér of the events is:=~

A. The lady hid the gold watch in the éase. -—~—The lady.
Qent to Europe.—-The_Custom'officer'0pened the ‘case.
——The'little girl c¥ied out. |

B. The lady went to Europe. —The lady hid the gold

"-watch in the case. —The littlé girl cried out., =
The Custom officer opened the case.
Ce The lady went to Europe. —-The lady hid the gold
- watch im the /case, =~JThe Custom officer opened the
case, —=The little girl cried out.l ,
De The lady hid the /gold watch in the case, ——Thé lady
went to Burope. —The little girl cried out.—The
custon officep opened the case.‘

A drunken man got on a bus and sat beéide a passenger. He
asked the bassenger, "Did you see me get on the bus 2! "Yes,"'The
person answered. The drunken mén asked, "Do you know who I am 2"
- "No", the person replied, The drunken maﬁ asked, "Then how did
you know_it was me' who got'on'thel bus ‘2

14, What will the readers of this passage think ?

A.  The-drunken man spake' beautifully.
B. The drunken man was badly drunke.
C. The person didn't like the drunken man,
P. The person was trying to quarrel with the drunken
mane.
"T am ill! said Peter to his wife. "I'm very ill. Yestefday

I had a bad headache; to-day I have a fever. Pleasercall in the



169

doctor!* The doctor soon“arrived. He felt Peter's pulse and looked
at his tongue. Then taking a sheet of note~paper, he wrote a pres-
“cription. Then he handed it to Peter's wife and said; M"Let him
take it this evening.". Before going fo bed that night, Peter chewed
and swallowed the péper. When he got up next moring he said to his
wife, "Now I feel quite well again." : ‘

15« What will the readers of this passage think 7

A+, The sheet of note-paper'made Peter well.

B. Pgter énd his wifé weren't very intelligent.

C. Peter was mad.

' D. Peter gouldn't take medicine.
Two brothers, who had 'thought each other dead for the past

twenty years, were reunited by ;hance in West Germany yesterday.
One of the brothers was walking ih the street with his wife and
child and thought he ?ecognised his brother. Hel!sent his child
- across the street to ask the other @an his name, and the two brothers
ran towérds each other with great joy.

16. Whilelthe childwas (asking/the ©thertman's name,

what should the brother and his wife do ?

A, " Thay ‘shouldiwatch Their/childiand thelother man
carefully.

B. They should go home.

C. They should wander along the street.

D. They should go into a shop to hide themselves.
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"You are wanted on the telephone, sir,'" said the caretaker

. of a large sohool to theAheadnmaster.
The head-master went to the telephone, and.placed the head~

piece to his ear. '"Hellol!" he called.

| A voice from fhe other end asked, "Is that the head-master 2"

"It is" repiied the géntleman. |
" T want to tell you that Jimmy Brown will not be able to

come to school today. He has a very bad cold and will have to

~ remain in bed for the day.'' £aid the voice at the other end of

the wire.

" "Oh, that's quite 21l right," said the head-master, "Thank
yéu very much for calling.' ' But the voice at the other énd_sounded
rather ;hildish'for an adult, so he confinued, "Quite all righti
But, who's speaking 2" '

And the same rather thin voice answered: '"My father, sir."-

17« What would happen next ?

Ae  Jimmy had to come to school immediatelye.

B. The' head~master W§u1d know' who| thespeaker wase

C. Jimmy had to go to see the doétor at once.

D.  Ther -head-~master wouldvbe angry with the' care~taker,

18, What will the readers think ?

A. Jimmy was a patient boy.
B. Jimmy was afraid of the headmaster.
C.e Jimmy was still chiidish.

D. Jimmy was a good boy.
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19. If Jimmy Brown didn't telephone the head-master, what

would or would not happen ?

A.

B.

C.

D

The headmaster wouldn't know that Jimmy was sickae
Jimmy's father would telephgne the headmaster by
himself. | |

The headmaster wouldnit kaow at once that Jimmy
wasn't sick. .

The headméster would telephone Jimmy.

Robert had been to the movies and was returning home., As

he was riding along the istreet, he noticed smoke coming from an

apartment house. ) : | .

Thanks to his prompt aetion, many lives were savede

20, Which of the following sentences is best to fill the

space ?

Ae

B.

Ce

D.

Without wasting any timey he drcve a mile to thev
policefstation.

wifhoﬁt wasting any,time, he got out of his car
and rang:the bells of all the apartments,

Without wasting any timey he drove a mile to tell

the firemen.

‘Without wasting any time, he got out of his car

and broke into the apartment.
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